B B w &

SERFRERE T 5

s il ik (&P Wi | RGOSR AR fi &
+T
A
R 2l m3 17. 74 17. 00
i TR ALy 10km m3 17. 74 17. 00
HhAE T
B L
LA M-30 t=10cm m’ 74. 89 74. 00
NEE: S5 RC-40 t=15cm m* 74. 89 74. 00
HHAE T
L FET W=3.0 F AR ET 22713 t=5em m’ 74. 89 74. 00
~ AR — LR T
U v s ES $ 900 15cm (EBh 1.00 1. 00
PN I ER ¢ 300 5em & AT 1. 00 1. 00
U v B $ 900 10cm & AT 1.00 1. 00
P T
ERHE ATEEE W=450 m 2. 20 2.00
ERH EaYEEE W=150 m 3.00 3.00
IS T
IS T
LR 7A77Vh  t=bcm m 20. 30 20. 00
ShAL U L TA77VE  t=Bcm m’ 66. 72 66. 00
TAT 7 hERAL Gy TAT 7V m’ 3.34 3.00 [& TR 1=9.5km  66.72%0.05




SERFRERE T 5

THELZ:+T 24y
[EF] e B = o E%
e U 66.72%0.25+0.5%0.1*21 1 17.74

m3
R T 10km 17.74

m3




SERFRMERE T

i
O T
H A B PR #F & b JE B T g B
Wr f(m) Y &K B[ mm Y e fmm Y K Ewd)
No. 0-1.0 3. 60 3. 60 3. 60
No. 0+3. 5 4. 500 3.45 3.53 15. 89 3. 45 3.53 15. 89 3.45 3.53 15. 89
No. 0+6. 7 3. 200 3. 35 3. 40 10. 88 3.35 3. 40 10. 88 3. 35 3. 40 10. 88
No. 0+12. 0 5. 300 3.99 3. 67 19. 45 3.99 3. 67 19. 45 3.99 3. 67 19. 45
No. 0+16. 2 4. 200 4.45 4.22 17.72 4. 45 4.22 17.72 4.45 4.22 17.72
No. 0+18. 6 2.400 4. 80 4. 63 11. 11 4. 80 4.63 11. 11 4. 80 4.63 11. 11
0. 50 0. 50 0. 50
No. 0+20. 1 1. 500 0. 50 0. 50 0.75 0. 50 0. 50 0.75 0.50 0. 50 0.75
V- -0.91 -0.91 -0.91
B 21.100 74. 89 74. 89 74. 89
O T
H =y B PR AHAEIUE L
Wr f(m) Y &K B[ mm Y e mm Y K Emd)
No. 0-1.0 3. 60
No. 0+3. 5 4. 500 3.60 3.60 16. 20
2.95
No. 0+6. 7 3. 200 2.85 2.90 9. 28
No. 0+12.0 5. 300 3. 45 3.15 16. 70
No. 0+16. 2 4. 200 3.95 3.70 15.54
No. 0+18. 6 2.400 4. 30 4.13 9.91
0. 00 2.15 0. 00
No. 0+20. 1 1. 500 0. 00 0. 00 0. 00
V- -0.91
=t 21.100 066. 72 0. 00 0. 00




SERFRMERE T

AsH) T
£ i X 4y AL 0 & i
AsHIWr t=bcm m 20. 30(3. 6+9. 5+2. 4+4. 8

20. 30




B B w &

B ERAR < HK A T RERE LF

THE il Hikg (5&1F) BANT R E A E i £
AEET
AL VE(E T
NN NN IAER t=3cm m 70.97 70. 00
AEET
AT | Jeg M-30 t=10cm m’ 4,25 4,00
BNEES RC-40 t=15cm m’ 4,25 4. 00
SHE T BT W<l.4 BRI EETA2/13 t=bcm m? 4.25 4,00
FET W>3.0 FHABRIEETA2/13 t=5cm m 70. 97 70. 00
T IS T
PEZK LT
0y . B R AR HEARAS GRETRE )
= 7 VE (=)
R IRHEK T IR T 100 T m 8.00 8.00
&R T
&Y E T
S LE RRGT TA77VE  t=Bcm m 25. 50 25. 00
ELEEEE L TAT7VE  t=bcm m 75. 22 75. 00
T AT 7 bR ALy TAT 7V bk m’ 3.76 3.00 |#:Ze#EEs%  1=0.5km  75.22%0. 05
HiFL T ¢ 150 & T 1.00 1.00




HBAFHERMR - BT AT A RMERE T

+ I 4 F F
1E £ + T % m
" i Ji% + 7R Pt e
- = B
i L
oo vowom om - EEE Gy g
2.2 1.1 2.2
1’1’13 1’1’13 1’1’13 1’1’13 1’1’13 1’1’13 1’1’12 mz
0.0 0.0 0.0 2.2 0.0 1.1 2.2
e
£ o+= 0.0 + 0.0 + 2.2 + 0.0 = 2.2 m’®
A t+= 0.0 + 0.0 = 0.0 m® R v 5
st y= 0 2.2 - 0.0 / 0.9 = 2.2 m




HBAFHERMR - BT AT A RMERE T

L = &% & £ i =X

No.
T f 4 Pk HEEY T
R CUNNE BLH HLAZ ¥ = i
ANVRK ST
fEEET
R m3 2.2
B L (R4 5) | m3 1.1
r By m3 2. 2|L=7. Okm
BT

S RIEE KL ¢ 100 | m 8.0




HBAFHERMR - BT AT A RMERE T

T = ¥ & E H W F

No.
T & 4 |WE¥XELT
% o M Py HAL| % &

PRI HoE BTS20 5

i LA 8.00 X 1.0 X 0.28 = 2.2 | m3 2.2
W R B HA Y4720 +&

LA 8.00 X 1 X 0.14 = 1.1 | m3 1.
L IE HE

RN 8.00 X 1.0 X 0.5

4.0 m3 4.0




HBAFHERMR - BT AT A RMERE T

¥ T
O T
H B R A £ = W<1.4 e T e B
Wr fm) Y % B mm) Y B[ mm S K E o)
s 0. 50 0. 50 0. 50
8.500[ 0.50 0.50 4. 25 0.50 0.50 4. 25 0.50 0. 50 4,25
B 8. 500 4. 25 4. 25 4,25
O T
H A HRREE * = W>3.0 NS NS
Wr fm) Y % B mm) Y BB mm K E o)
Ak 3. 80 3. 80
17.900| 4.20 4,00 71.60| 4.20 4.00 71.60
2N -0. 33 -0. 33
TH KA 92 -0. 30 -0. 30
it 17. 900 70. 97 70. 97 0. 00




HBAFHERMR - BT AT A RMERE T

P X 5 HAT & i
m 17.5[8. 5%2+0. 5
m 8.0[3. 8+4.2

25.50




K FBRAR BT A T T RERE L

A) A 5 /‘.A..
¥ B i H #
IS PE/K T
(10m & 7= &EH)
AT s
S | s
] — 1 B
- LI — P
S O ez
BB (BE) 6100 JiHER
4 | HE a1l iZNR TN HO A=V # &= | HAL
TR i 0. 55%0. 5%10. 0 = 2.75 2.75] m3
R BRI A4 (0. 3%0. 5-0. 05%0. 05%3. 14)%10.0 = 1.42 1.42| m3
DR LB LE S — b (0. 5%2+0. 3%2) *10. 0 = 16.00 16. 00| ni
AR E ¢ 100
B IR PE KB i) =75 10.04.0 = 2.50 2.50] A
JL e 0. 50%10. 0 = 5. 00 5.00 nf
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3

T R B ERE T

T vl Bk (M) XA AR SR BEiy € i =
[HEE
S B (i T
R E i EAAM-30  t=30 m 87.32 87.00
HHAE T
LT KET W=1.4 AR ETA2/13 t=5cm m’ 44. 49 44. 00
FEhE T 3. 0<W AR ETA2/13 t=5cm m’ 92. 65 92. 00
KIgL(A— =1 A) FAEBBIETAI/13 t=3cm m’ 195. 37 195. 00
HE L T
HEDHE L
EA ARG T 7A77Vh  t=bem m 134. 20 134. 00
EhALIUE L TA77ME  t=Bcm m’ 137. 14 137.00 [44. 49+92. 65
7 A7 7V RIS TAT 7 bR n’ 6. 85 6.00 |4 FAEEE% L=2.0km  137.14%0.05




T R SRR ERE T

O T
e T
W HiRRE ® 8 W=1.4 RNEEFEIE
Wr mm) Y K B mm Y B B mm S K B
) 2.40
13. 300 2.50 2.45 32.59
@) 1.70 1.70
7.000 1.70 1.70 11.90 1.70 1.70 11.90
©)
7 20. 300 44. 49 11.90 0. 00
e T
weooR HEEEE | £ B (F——L1A) #* JE 3. 0<W RNEEEEIE
Wr mm) Y K B[ mm Y B B mm S K B
® 6. 25
9. 500 6. 05 6. 15 58. 43
6. 30
1. 400 6. 25 6. 28 8.79
6. 05
1. 400 6. 00 6.03 8.44
v/ —-0. 33
@ 4. 15
34. 400 3. 85 4.00 137.60
6. 00 6. 00
1. 300 5.90 5.95 7.74 5.90 5.95 7.74
1.75 1.75
34. 400 1.75 1.75 60. 20 1.75 1.75 60. 20
5. 80 5. 80
1. 300 5.70 5.75 7.48 5.70 5.75 7.48
v/ —-0. 33
g 83. 700 195. 37 92. 65 75. 42




A SESRERE T F
AsEIiEr
4 R X 5 LT & Ui =
AsYlr
@) m 17. 4|7, 0%2+1. 7%2
® m 24. 6(6. 3+6. 25+6. 05+6. 0
@ m 92. 2(6. 0+5. 9+34. 4%2+5, 8+5. 7

134. 20




B B w &

RS AR ERE T

THE il Hikg (5&1F) BANT R E A E i £
AEET
AL VE(E T
NN NN IAER t=3cm m 17. 45 17. 00
AEET
AT | Jeg M-30 t=10cm m’ 6.75 6.00
BNEES RC-40 t=15cm m’ 4,25 4. 00
HiTE T FRET WL 4 AR EETA1/13 t=bcm m’ 9. 50 9.00
BT W>3.0 AR EETA1/13 t=hcm m 14.70 14. 00
RETEW)EETE T
PEZK LT
i s B A e HE KA GRS )
= 7 VE (=)
R IRHEK T IR T 100 T m 13.50 13.00
45° fhiE & 2.00 2.00
Fry7” 1# 1. 00 1. 00
REEY S T
&Y E T
ERAE R TA77Vh  t=bcm m 17.90 17. 00
ELEEEE L TAT7VE  t=bcm m? 24. 20 24. 00
T AT 7 bR ALy TAT 7V bk m’ 1.21 1.00 |dEoeEsk  L=7.6km  24.2%0.05
HiFL T ¢ 150 & T 1.00 1.00




RS AR ERE T3

+ T &£ FH *
B ¥ + T %
" i B+ 7S Hi ;5: ’
i - %
e #%
oo oo g b R OREEE Gy 4
4.1 1.8 4.1
1’1’13 1’1’13 1’1’13 1’1’13 1’1’13 1’1’13 1’1’12 l’n2
0.0 0.0 0.0 4.1 0.0 1.8 4.1
e
»% 4 += 0.0 + 0.0 + 4.1 + 0.0 = 4.1 m°
woH t= 0.0+ 0.0 = 0.0 m® R v 5
tHsy= 4.1 - 0.0 / 0.9 = 41 m




RS AR ERE T3

T = # 2 £ i =%
No.
T f 4 | HkEE) L
Bl Mmoo A B BT o = 1
/NRUKEE T
EE+T
PRI, m3 4.1
PR L (R 47) m3 1.8
MR L (RC-40) m3 0.9
by LY m3 4. 1[L=9. Okm
BRELT
A REAEIE KA (100) | m 13.5




RS AR ERE T3

S
ol
O T
HA PR * & W<1.4 )@ A t=100 J& A%
Wr f(m) Y &K B[ mm Y e fmm Y K Ewd)
1. 00
9. 500 1. 00 1.00 9.50
0. 50
8. 500 0.50 0. 50 4. 25
0. 50
5. 000 0.50 0. 50 2.50
0. 50
8. 500 0.50 0. 50 4. 25
B 31. 500 9.50 6. 75 4. 25
O T
B PR *= & W>3.0 REFE R
Wr f(m) Y & B[ mm Y R m Y K Emd)
&yt 4. 20
3. 500 4. 20 4. 20 14. 70
4. 20
3. 500 4. 20 4. 20 14. 70
1. 00
9. 500 1. 00 1. 00 9.50
sy -6.75
=t 16. 500 14. 70 17. 45 0. 00




HRS A RS E T
AsEIiEr

4 i X 4 LT & fi
AsY] T
i1 m 17.9

4.2+9.5+3.2+1.0

17.90




RS AR ERE T3

3 =N = St
o & H B #
IR PEK T
(1fEFT 7= 0 B )
DRERER M (X1« 20 MR AW X1« 20

\ 1000

L 500
— = ’———‘
.

0 0
I T
—{( )

4 PRl fd pilll B ok - MoK - & K # &= | HAL

TR i 0. 75%0. 5%8. 5+0. 35%0. 5%5. 0 = 4. 06 4.06| m3
0. o%x0. o%8. o+0. 20%*0. o*o. 0—

R BRI AT 47 0. 05%0. 05%3. 14*13. 5 = 1. 79| m3

MR RC-40 0. 2%0. 5%8. 5 = 0. 85 0.85| m3
(0. o%2+0. ox2) *5. o+ (0. 2o*x2+0.

WEH LB IE S — R 5%2) %5. 0 =  21.10 21.10| ot

AN E ¢ 100
B IR HEAK B | =75 13.5+4.0 = 3. 40 3.40] =A<
L e 0.50%13. 5 = 6.75 6. 75| ni
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F PR A T T

LFE il U ES D) HAL AR By € 1
e T
ST
HidE T KEL(A—1—1A) PRI EETA2/13 t=3cm m’ 31. 50 31. 00
ESTTE
D] 1
Pt =l W=150 FEf% m 14. 00 14. 00




F P AR TE T

T
O T
A HEREE | # B (F——11)
Wr fm(m) A & B[ mm Y BB ) B & oD
3.50
9. 000 3. 50 3.50 31.50
9. 000 31.50 0. 00 0. 00
O T
= B A
Wr f(m) A K Emd) ) K& oD ) B & oD
0. 000 0. 00 0. 00 0. 00
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A vl Bk (M) XA AR SR BEiy € i =
[HEE
S B (i T
R E i EAAM-30  t=30 m 4.76 4. 00
HHAE T
LT KT (A—"—1A) F/EBRIETAT/13 t=3cm m’ 73. 50 73. 00
ST FET 1.0<W=3.0 FHAEERIET 22713 t=5cm n’ 4.76 4. 00
HEIE Y T
IS T
EliE hi By TA77Wh  t=bcm m 9. 00 9. 00
EhAEUE L TA77Wh  t=bem m? 4.76 4.00
TAT 7 Vb5 TAT 7 M m’ 0.23 0.20 |4 F&GEX  L=5.0km  4.76%0.05




TR B e RE TR
¥ T
O T
H A HPERE | R B F——1 A1) =g 1. 4<W=3.0 AR e
Wr f(m) Y &K B[ mm Y e fmm Y K Ewd)
3.50
21. 000 3.50 3.50 73.50
1.70 1.70
2.800 1.70 1.70 4.76 1.70 1.70 4.76
B 23. 800 73.50 4.76 4.76
O T
H A B A
Wr f(m) Y & B[ mm Y R m Y K Emd)
B 0. 000 0. 00 0. 00 0. 00




Astlr
4 B X4 e 8
AsYlr
m 9.0|1. T#2+2. 82

9. 00




B B KB B R

TFE il U ES D) HAL AR By € 1 £
e T
B VE( 1
R E FEAMM-30  t=30 t 3. 20 3. 00
ST
EET FKET 1.4NW=3.0 AR EETA2/13 t=bem t 3. 20 3.00
M T
SRS T
LRl TA77ME  t=5em m 7.20 7.00
EHASEUE L TA77Wh t=bem n’ 3.20 3.00

TAT 7V N ALy TAT 7V Nk m° 0.16 0.10 |& &% 1=3.0km 3.20%0.05




B SR ERE TR
T
i OAE T
R HAFREE =g 1. 4<W<3. 0 AR IE
Wr fm(m) A & B[ mm Y BB ) B & oD
1. 60 1. 60
2.000 1.60 1. 60 3. 20 1. 60 1.60 3. 20
2.000 3. 20 3. 20 0. 00
O T
= B A
Wr f(m) A & BB mm Y B EO ) B & oD
0. 000 0. 00 0. 00 0. 00




«

B SR ERE TR
AsH) T
4, i X 4y A A s

AsYlr
m 7.2]1. 6%2+2. 0%2

7.20




1k

AR vl S S LD LA R R AT fii =
BHAE T
S (R 1
Nz NN M-30 t=3cm m? 148. 09 148. 00
L
L FET W>3.0 BRI ETAT/13 t=5cm m’ 148. 09 148. 00
IR FET W<1.4 FAEBRIETA2/13 t=5em m’ 2. 70 2.00
PeAk T
K T
AR | AR 0RO D IO |y 2. 00 2. 00
?90*500 (R V) 12Dy m 9. 00 9. 00
IS T
IS T
i i ) e 7A77Vh t=5cm m 43.30 43.00
SHEETUE L 7A77Vh t=5cm m? 150. 79 150. 00
TAT 7V N AL TAT 7R m’ 7.54 7.00 |HoeiEE L=2.3km  150. 79%0. 05
ay 7 U — MW t=15cm m 2. 50 2.00
ay s ) — MESETUEL | m3 2.70 2.00
Ly Y — N AR m3 2.70 2.00




AT PR ERE T
+ T £ FH *
B % + T % |
X " i % + 7S e e s
" woOR RERE| S, Y
+ W A + W e (8] 1)
6.4 4.9
HAAT m® m® m® m® m® m® m? m?
3 0.0 0.0 0.0 6. 4 0.0 4.2 0.0
P PR
% A += 0.0 + 0.0 + 6.4 + 0.0 = 6.4 m°
WO = 0.0 + 0.0 = 0.0 m’® Rt 5
tsy= 6.4 - 0.0 / 0.9 = 6.4 m°




T PP R ERE T

Iyt
ol
O T
); £ = W>3.0 NS HHAEIREUE L t=5cm
Wr fm) Y % B mm) Y B[ mm K E o)
T 4,10 4. 10 4. 10
4. 20 4.15  62.46] 4.20 4.15  62.46] 4.20 4.15  62.46
5. 10 4.65 5.10 4.65 5.10 4,65
4. 70 4,90 31.12] 4.70 4.90 31.12| 4.70 4,90 31.12
2 93. 58 93. 58 93. 58
O T
= B W>3.0 NS HHAEIREUE L t=5cm
Wr fim) Y % B mm) Y K B[ mm K E o)
At 4. 50 4.50 4.50
4. 40 4.45  24.92| 4.40 4.45  24.92| 4.40 4.45  24.92
4.50 4.45  29.59 4.50 4.45  29.59| 4.50 4.45  29.59
it 54. 51 54. 51 54. 51




T PP R ERE T

¥ T
O T
H =y B PR £ = W<1. 4 AHAERRENEE L t=5cm
Wr fm(m) A & B[ mm Y B ) B & oD
0. 30 0. 30
9. 000 0. 30 0. 30 2.70 0. 30 0. 30 2.70
9. 000 2.70 2.70 0. 00
O T
HA PR * & W>3.0 REFEE RREREE L t=5cm
Wr fm(m) A & B[ mm Y BB ) B & oD

0. 000 0. 00 0. 00 0. 00




T AE VAR RS e T 5
AsHkr

4 i X 7 HLAY % & i 4
AsHlWr
m 33. 7]4. 1+15. 05+0. 9+4. 7+4. 5+4. 5
m 9.6

9.2+.2+.2

43. 30




T PP R ERE T

T F %% & £ i %
No.
T T 4 Pk HEEY T
(2 G E B HLAZ ¥ & T
/NIRRT
TE¥E+T
PRI m3 6. 4] (2. 0%5+9. 0%6) /10
P L (RC-40) m3 4. 2[(2. 0%3+9. 0%4) /10
F Sy m3 6. 4|L=5. 1km
i T
A BELHITE300%300 | m 2.0
A B ET$300%500 | m 9.0




T PP R ERE T

% BZ H H &
H i A BARE
(10m& 7= v HH
B A EMRTE300%300  1/25
21 o R 90 WY koL
N NS
uﬁ«
520 a7 ) — |
HLRER
4 | M 1) iZZNR TN % -V iy ® | HAL
AR 0. 5%10 = 5. 00 5.00] m3
5 RC-40 0. 3%10 = 3. 00 3.00| m3
A B AEEIRE [300%300 2Uyh |5 = 5. 00 5.00] &
1)) -2 300/  AJyh 10 = 10.00 10. 00| #
AN =hay )=} 0. 08%0. 3%10 = 0. 24 0.24| m3
JEREa ) =) 0. 52%0. 10%10 = 0.52 0.52| m3
Py RC-40 t=15cm 0. 52%10 =  5.20 5.20] m2
e 0. 52%10 =  5.20 5.20] m2




T PP R ERE T

AY /A 5 /‘.,‘..
¥ B FFH H #
H H 2Bl R
} 10mdH 7= v FH)
A A EREE300%500  1/25
2 U v FHEK _ 120 WY IEDINT
) _ C -
{v - % . (% =
120\ \
520 \ \ L )
\

\_ FEEE
4 PRl Fl 1) iZZNR TN % -V iy ® | HAL
AR 0. 6%10 = 6. 00 6.00] m3
5 RC-40 0. 4%10 = 4. 00 4,00 m3
A B AR [300%500 2Uyh |5 = 5. 00 5.00] A
/) - 25 300/  AJyh 10 = 10.00 10. 00| #%&
AN =hay )=} 0. 08%0. 3%10 = 0. 24 0.24| m3
JEREa ) =) 0. 52%0. 10%10 = 0.52 0.52| m3
Py RC-40 t=15cm 0. 52%10 =  5.20 5.20] m2
e 0.52%10 =  5.20 5.20] m2
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